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€D AB:AC=BD:CDo|o=
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6CD=36 .. CD=6(cm) B0
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Ato|ef MEo| Zoje| Hl= 23S 01Z8tict.
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S.x=9 Bo




06 EEEED /A ABCS ACDAOIA HaM Afojo] Mi2o| 2
0le| H|Z o|&3ict.
AABCO|A AE : AB=EG : BCo|u&
2:(2+6)=EG:12, B8EG=24
- EG=3 (cm)
ACDA9)A CG : CA=GF : ADo|u&
6:(6+2)=GF:4, 8GF=24
. GF=3 (cm)
. EF=EG+GF=3+3=6 (cm)

Ei6cm

07 nj22o| AAIS 023510 DBL| 2012 T8k,
€2 DF=DB=x cmet 3} AABCOIA DF 7 BCol=2
AD : AB=DF : BC

(12—} - 12=x.8, 122=96—8x

0r=96 .. x=2—54 B®

08 ADEAO|IM HaiM Afo[e] A2o| Zolo| HIE
02510 A FG2| Zol2 78ic}.
£ ADEAYA DF : DA=FG : AEe|2&

5:(5+3)=FG:6, 8FG=30
- =15
e =57
AFBHO|A FD : DB=FG : GHo|=&
v 1D Ly 5 _ 45
5:3=-2:GH, 5GH=-
- ea=2 9.
7 GH=7 1
=) A ABCo|A AD : DB=AE : ECo|z&
(345) :3=6: EC, 8EC=18
N Ta
.EC=7
ol GH//EC, GE/# HCo|2& [JIGHCE: HajApag o},
|
S GH=EC= 1
09 HaiAHEIo| AT 0123101 BiX| ECel ZolE
el

£ BC=AD=10(cm)°|iL BE : CE=2 : 30|u&
FC—3pr—3 =
EC= 5 BC= 5 X 10=6 (cm)

AFDAYIA EC : AD=FC : FDho|mz
6:10=FC:15, 10CF=90
o C_F:Q (Cm} E}@

HE=E 73~76%

10 ACDB2 ACABOIIA HaiM Alole] Mo| 2
o[2| H|Z o[&3ic},
£ ACDBe|A CF : FD=CE : EBo|u&
15: FD=20:8, 20FD=120
. FD=6 (cm)
ACAB9|A4 CD : DA=CE : EBo|o&

(15+6) : DA=20:8, 20AD=168
- AD=" (cm) 2 em

n Alziaio| o] Zlo|o| HIZ 0|2510] T
=Ch
£2) OCF:FA=6:10=3:5, CE :EB=8:12=2: 30]
B2 AB9} EF:= WaislA) girh,
@, @BD : DA=BE : EC=3: 20|22 AC/DE
" ZA=/BDE (5$izh)
®, ® AD : DB=2: 3, AF : FC=5: 30]=& BC%} DF
L gsix) o,
. ZB# £ ADF

o
plal

B® ®

12 AZIBI0| Lzto| ojSEMo] A7 0I83ICY,
D BE: £B9) oj5Edo|mi

BC : BA=CE : AE

BC:15=4:6

6BC=60 .. BC=10(cm)
E ADE £A9] ol5EAo|nR

AB : AC=BD:CD

15: (6+4)=BD: (10—BD)

10BD=150—15BD, 25BD=150
. BD=6 (cm) =)
BD : CD=15: 10=3 : 20]3 BC=10 cmo| =i

BD=-=BC=2 x10=6 (cm)
5] J

13 Aol U2 Ml Uiztel olSEMe| mEts
olg3ict,
o2z Tl o] Al dgAMo) A
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olF5EAlo|uE A ABCeA]
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18CF=90 .. CF=5 (cm)
£ ClE £C9) oj5EAo|=aa AAFCeA
Al :FI=CA : CF=10:5=2:1
AABCo||A] DE # BCo| =&
DE : BC=AE : AC=AIl : AF=2: (2+1)
DE:9=2:3, 3DE=18

.. DE=6 (cm) El 6 cm

14 S0[7} 22 AZIB0| Holo] Hj= wWio] Ziojo|
H|2} 22 0|E¢iCt,
£ BD:CD=AB: AC=9:6=3:20]5&

BG [ Ch=1%8

S AABC ) AACD=1:2 E10)

15 LWl Ato|e] M22| Zole| HIE OZEICt,
LE2Z 7oA
LAy no| B2
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2a+8=18
2a=10 S.a=5H
[/ nolBz
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dr=24 Jie=—6 EH

16 EEEED A ABCS} ACDAOIM ZHaM At0]Q] MEto| Z
0le| HIZ o|&3Ict.
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ACDA®JA] CP : CA=PF : ADo|=&
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I

17 CEEED Azisio| SiSH|et et Ato|o] Mol Zlo|o|
HIZ o|&5tct.
(1) AAODes ACOB (AA g2 )olu=g
A0 :CO=AD:CB=12:24=1:2
ACDASA CO : CA=OF : ADo|=&
2:(241)=0F : 12, 30F=24
.. OF=8 (cm)
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ABOFo)4 GH : OF=BH : BFo|=&t
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34 - =EH Y =0
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HIE o8t
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19 AfZisio] SiSHIe BN Ajojo] Astol Zole|
HIZ 0|2510{ APBCS| £0|= F3ic},
AABPoACDP (AA B2)olms
AP :CP=AB:CD=8:12=2:3
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BCol Wl 4-410] 9 Qet o} A :
H AABCo|A AB/PQoj=g
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AB : AD=AC : AE=BC : DEYg o|83ic},
£ AB: AD=BC : DE¢|nz&

AB:10=12:8

8AB=120 .. AB=15(cm) - @
AC : AE=BC : DE¢|2&

AC 1 §=1578

8AC=96 .. AC=12(cm) - @



w24 AABCE] =99 Zol=
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W 7= HIE
O AR O B . e %
® ACe| Zojg 712 4 9ict, | D%
@ AABCE| El"‘ilol ZIo|E 71 4= RiTk 20%
21 D =0|7t 22 &zigol Hole| Hl= 2Hel Zo|ef

H|2} Z2S 0|E¢Ht,
AABCE 2C=90°¢l 2Z4tztglo|na

AABC=%X6><8=24 (em?) o @
ojtf ADE £ A8] ol 5EAle|nR
BD:CD=AB: AC=10:8=5:4 - @
w24 AABD @ AACD=5: 40|22
AABnggABcz-;lxm:g—o (cm?) )
40
£} 3 cm
___9_%%3%‘__‘:_4__?7_0_!_? _______ _EE B O 0%
(2] BIJ LDE -_r“"—’-“— ICH i i i i . 30%
&f\ ’&BD—i 0|8 ?.EJ—’?—E’AEI 40 9%

22 HRMS 10| AZI0IM BaA Afole] Mo
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ojf AE=3BEo|"2 AE : AB=3'4
AABHO|A AE : AB=EG : BHo|2&

3:4=EG:4, 4EG=12
. EG=3 (cm) - @
. EF=EG+GF=34+9=12 (cm) o @
E12cm
e 7lE g
@ B NE TS 4 9l 20%
@GR B ZoETRA. 0%
91‘.(19: Z.GIE Tk 4= )0} . 33%
@ FFJ éol*’* H&t £l 0%
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23 AlZIBi0M A Atojo] AEto| Ziojo| HIE o
oI
(1) AABCeJA EQ : BC=AE : ABo|=&
EQ:18=6:(6+3), 9EQ=108
. EQ=12 (cm) @
(2) ABDAJA EP : AD=BE : BAo|=&

EP:10=3:(34+6), 9EP=30

. ﬁ ].30 (Cm) _" g
(3)PQ=EQ— EP_lz—%_zﬁ (cm) )
Ei(l)12em (2) 1—3? cm (3) % cm

A 71E bl

@ EQ2| 200/ 73 4 3rt 0%
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I, =82 &2
3. 22 E&
o |- e FAEY ® s 78-82%
@401 BehAC &AM ©BC

25011 (1}m=%m:% X6=30|02 =3

(2)AM=MB, AN=NCo|=& MN/#BC
w2l 2 AMN= 2 B=550]|0=

x=55 B3 (2)55
o402 BehNC Wl
24 02-1 (1)NC=ANo|=& r=4
(2)AN=NColu2  MN=-BC= x14=7

e = B4 (2)7

o503 AD/BC, AM=MB, DN=NCo|u&
AD/MN #BC
(1) AABDo A AM=MB, AD /7 MPo|2&

MP=LAD=2 x8=1 (¢
—ZA ——2X8—4((.mJ

(2) ADBCo }_N:W PN/BCeluz
PN= —BC‘— X 20=10 (cm)
(3) MN=MP+PN=4+10=14 (cm)
El(l)4cm (2)10cm (3)14cm

2% 03-1 AD/BC, AM=MB, DN=NCo|z&
AD/MN #BC
(1) AABCo4 AM=MB, MQ #BCo|=&

(3)MN=MQ+QN=
(4) AABDoJ|A] AM=
MP=1 AD=1 x5=2 (cm)

MB, AD /MPo|= =&

.. PQ=MQ—MP= =1(cm)

cm (3)6ecm (4)1cm

36 - Het 9 =o|

(8)MN =7 x (5+7) =6 (cm)

AABC=2AABD=2x16=32 (cm®)
@ 32 cm®

ol 04

55041 (1)BC=2BD=2x12=24 (cm)
(2) AADC=%AABC=%><52=26 (em?)
(1)24cm  (2)26 cm®

2% 04:2 ECE AADCY %
AAEC:EAADC

AD: AABCY 40|82 AADC=5AABC

. AAEC:%AADC %x%&ABC
Z%AABC"i x28=7 (cm’) BE7cm’
4405 (1)AG:GD=2:10/28 12:z=2:1
2r=12 S x=6
(2)DC:DG=3:10]"8 x:5=3:1 ..zx=I15
(3) AD=CDeo|=& x:%x8=4

Ei(1)6 (2)15 (3)4

254051 A G7F AABCY) A Ao)m g
A_G=3AD=—><6=4 Cox=4

& AD7F AABCS] SAl0| B
BC=2BD=2x4=8 .. y=8
Ety=12 & 12

#4052 A G'o] AGBCS FAF4lo|nz
eD=366"=3 x6=9 (cm)
H G7F AABCO| FAFGA 0|1 R R

AD=3GD=3x%9=27 (cm) & 27 cm

b 06 A G7F AABCE RAEAe| oz
BG=2GE=2x8=16 (cm) ..x=16

ABCE94 BD=DC, BE # DFo|=&

DF:%ﬁ:i X (16—!—8):% x24=12 (cm)

Soy=12 B x=16, y=12



2% 061 EF/BCol2® AEGFwACGD (AA 5%)
. GF . GD=GE.: GC=1:¢

olif GD= D= = x12=40|0F

1
3

ﬁz—GDzE X 4=2 B2

A G7} AABC"] Al n=

K(§~ AD— £ %12=8

LD | =

AABDOHA*I AE:EB. EF/BDe|lE=2 AF=FD
T s Ly — e | -
A3 J&F_EAD_E > 12=6
. GF=AG—AF=8—-6=2

W07 B0y bt

2% 071 (1)aCEG——AABc_i

p— 2
6 42=7 (cm®)

(2) AAGE+ABDG=—-AABC+ = L\.ABC

1
3
%AABC— x 42=14 (cm®)

()AGBC——/_\.ABC— X 42=14 (cm?)
l (1)7em® (2)14em® (3)14 cm®

2% 07-2 (1) AABC=3AGBC=3x8=24 (cm?%)
(2) OBDGE= ABDG+ ABEG= %/_\.ABCJr %L\ABC

:%AABC:%xm:s(cmﬂ
(1)24 cm” (2)8 em’

HE% 83-84%

01 20 cm 023 0312cm 04 10 cm
05 HIAHS 06 M 07 24cm 08 12cm

09 @ 10 4cm’

01 AD=DB, BE=ECclZ& DE=+AC

b=

AF=FC, BE=ECo]u® EF=: AB

m|r——-

AD=DB, AF=FColu2 DF= BC

HE= 78~83%

. (ADEF®] £#9] Zo])=DE+EF+FD

E 20cm

02 AD=DB, AC/DE¢|=&
EC=BE=6 (cm) i =B

# DE=1 AC= x8=4 (cm)o|u2  y=4

Soxty=10 B®

03 ABCE94 BD=DC, BF=FEo|u&
EC/FD

AAFDo|A AE=EF, EG / FDo|u&
FD=2EG=2x3=6 (cm)
. EC=2FD=2x6=12 (c¢m) B 12cm

04 AABcoﬂHmzm, MQ/BCo|2&
MQ—-—BCH % 20=10 (cm)
: MPzMQ-PQle—SzS (cm)
AABDoA AM=MB, AD/MPo|=&
AD=2MP=2x5=10 (cm)

10 cm

05 <9E% a3utzo] ACE 109
AABCoA
AE=EB, BF=FC

o]nE

EF/AC, EF=5AC e )
= AACDOA
AH=HD, DG=GC

ol

L\..|o—-
1

HG/AC, HG=1AC = e ©

l\..|r—'

Q, ©A

EF /HG, EF=HG
oA gk o] o] syastar 1 Hol7k Zen s [JEFGH
= Byrpagelrt YA

I =8 &2 - 3]
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06 AP=PQ=QDoj=z
AABD=3AABP=3x4=12 (cm®)

ADE AABCS] #Alo|m =
AABC=2AABD=2x12=24 (cm®) BO®

07 AAGG'Z AADESA
AG: AD=AG : AE=2:3, LA 2%
olo=g AAGG oo AADE (SAS §-2)
utebd] GG : DE=2 : 30|02
8 : DE=2 oDE=24 .. DE=12 (cm)
® AD, AE7} 22t AABM, AACMS] F4lo|nz
BD=DM, ME=EC
. BC=BD+DM+ME+EC
=2(DM+ME)=2DE

=2x12=24 (cm) E 24 cm
08 ABCE9|4 BD=DC, EF=FCo|n&
BE=2DF=2x9=18 (cm)
H G7F AABCS] FAIFHeo| B2
BG= % :%XI8=12 (cm) Bl 12cm

09 @ AABD=3AGBD=3AGDC

® OAFGE=2x ¢ AABC=1AABC=AGBC
=Y
10 dG7t AABC—% Tﬂl“'oln_i
AGDE=§ ABDG=1 x + AABC
= %AABC =L x48
4 (cm®) B 4cm’
@ 03 TN g5

2401 (1)AO=0C, BM=MCo|=2 A P= AABC2
FASHelh
u}epd BO=3P0=3x4=12 (cm)o|2&
BD=2B0=2x12=24 (cm)
(2) BP=PQ=QD°|E2 %
AABP= 3 AABD= 3 X 18=6 (cm’)

a

E(l)24cm (2)6cm®

38 - e U =0

2. $e =8io| 5ojo} £l

o 78S 86~-88%

(1) DABCD2} CJA’B'C'D’ 9] g-g4]=
Ch " =618=8 "4
(2) JABCD2} JA'B'C'D’ 9] 9247} 3: 40|02 Ego)
dolol vz 3:4
(3) JABCD¢t CJA'B'C'D’ 2] 5|2 Zole] H|7} 3 : 40]2
2 [JA'B'C’'D’] E9¢] Zol& x cme} 31
30 ¢ x=3 14, 3xr=120 Jox=40
webd CJA'B'C'D’ 9] E8|9] Zoj+= 40 cmeoltt,
B(1)3:4 (2)3:4 (3)40cm

o415 01

294011 AABCAADE (SAS &&)ola w347}
2 10|22 AADE®] Ed9] Zo& x cme} 5HH
321xr=2:1, 2r=32 L x=16

w2bA AADE2] Sdle] Zol=16 cmo] o}, 16 cm

9402 (1)FHO0, 0 G471 : 50|22 Yol =
4> 54=16125
(2)5F ¥ 0, 0'9] Holo] uj7} 16 : 250|282 ¥ 09 Hol&
z cm’2} &h
x . 2257m=16: 25, 2bx=23600r
L x=144x
wleba] 9 02 Yol 1447 cm®o|c},

BE(1)16: 25 (2)1447 cm®

71 02:1 AABCooAAED (AA B-&)o|T w-3v|7}
AC s AD=8613=2%1

olu g
ANABC : AAED=2:1"=4:1
AABC :5=4:1 . AABC=20 (cm®)

@ 20 cm’
o403 (1)F 4715 A, B 234
12:8=3:2
(2) 5 AZ1F A, B §8u17}3 1 20182 Zyo]o] vl
=914

(3) = 42715 A, Be Zulole] v|719 @ 40|82 4275 A
o] Z4lo]5 x cm’e} 31
x:100=9:4,  42=900 “ =225
kA 42715 A2] By ol 225 cm®olct,
B1)3:2 (2)9:4 (3)225cm®



7031 F 9% A, Be ©2u9]7F12:9=4 : 30|92 ¢
ylolo] vj=
4:3°=16:9
ojuf 1% Bo| FylolE x cm’e} 3H
1287 i x=16:9, 16x=1152r
Lx=T12r
ulzpa] Y8 pe] dyjol= 727 cm®o|t}, @ 727 cm®
o804 (1)5F+A, BY
3 =27 1125
(2)F - A, Be| #ue] v|7} 27 : 1250|H& -
x cm’2t 3F
54 : x=27 . 125,
o a=250r
wkebs] 5L Bo| Ku)= 2507 cm®o]ct,
B(1)27: 125 (2)2507 cm®

34713 1 5o|ug Hulo] vl=

B9 %

1)
wj

27x=67507

74041 F U715 A, B §u}9] vj=
1357 : 3207 =27 : 64=3": 4*
olmZ ghSul= 3:4
= 715 A, B2 We] uix| o] AolE 2z, em, 7, cm
e} 51

roiry=3 4,

.I]IL

| Lo

dry=3r, .=
ufehA] 715 A2l Wide vixF2| Aoli= 971 Be| W9

ubge] Zole] 3ol &

N

4505 (1) 4dcm . dem 1

10 km _ 1000000 cm 250000

(2) 5 AH A, B Alel9] AmojjA|e] #2li=
7.5 (km) x

=750000 (cm) X

=3 (cm)
3)5F XA C, D Ao]e] AA| #lgj=

1 —1
250000 250000

6 (cm)+m=6 (cm) X 250000

=1500000 (cm)=15 (km)

B (1) ==

550000, (2)3cm (3)15km

7405-1 (1) A 283} C 2 Ato]e] AA) Azl

=12 (em) % 20000

|
12 (em) + 55550

=240000 (cm)=2.4 (km)

&= 84~89%

(2) Z=l410] B A} C 21 Alole] Aeie

6 (km) x =160000 (cm) %

1 1
20000 20000
=8 (cm)
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3:(3+7)=1.8:DE, 3DE=18 ..DE=6(m)
whepa] FE 2] 320l 6 mo|tt, Ei6m
29061 AABCSF ADECOA
/B=/sE=90°, ~ACB=2DCE
olm g2 AABCooADEC (AA g2
AB : DE=BC : ECo|n&
1.6 : DE=2.5:(10—2.5), 2.5DE=12
. DE=4.8(m)
wefA] ZIg 2] 0] 4,8 mo|u}, B4.8m
THa= 8o
M" gz 45K )
01 24 cm® 02 100 em? 03 @ 04 76%
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01 FHR=E & 43 7P & 99 S3Hle
ol bje} Zoug 243
whebA] glole] vji= 27 1 3'=
zcm’2} sh
xr.bd=4:9, 9x=216 Soxr=24
ujebs AR o] yloli= 24 cmo|t},

ubAEe) o]

: 9ol o APE o] Yol

02 AAODxACOB (AA &&)ola w347t
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04 =9 kol a3
10:15=2: 3

oln= fulo] vj:=
2¥:3=g:27

) :L%Oil =& 7HS A9 bl Aol ARbe 222 s
32:x=8:27, 8x=864 ..z=108

fE}E}fd O30 B8 715 e w 108—32=76(%) 54t &

& ¢ golor gitt, 62

SERDR
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i
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b AABC» A ADE (AA S5 )ol22
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1
5000
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MN= BC=1 x16=8 (cm)
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02 D 20| 5t M - H0|E 0|SESiCt
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L AABC=2AABD=2x2AABE
=4AABE=4x8=32 (cm?)
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1 6=2 13,
Lxty=14

3y=12 Soy=4

04 M G7t AABCE| SASA
~ AABG=4AABC

8 AEBG=-AABG= AABC

c,o|.—A

1 =

F] 2
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